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1mport matplotlib.pyplot as plt
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# o —2EHE
x = [1,2,3]
y =12,4,9]
plt.plot(x,y) # Pkt s 7 7 A

plt.title(MATLAB-style') # 77 724 A FILVERE

plt.show() # T T mER
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>>> range(5) # range(stop)
012345

>>> range(1,11) # range(start, stop)
12345678910

>>> range(1,11, 2) # range(start, stop, step)
13579
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%matplotlib inline
import matplotlib.pyplot as plt
# T—X
x = list(range(1, 11)) #x Off (1~10)
y=1I
for iin range(10):
y.append(3*x[i] - 15) # y=3x-15
# 777
plt.plot(x, y)
plt.grid(color='0.8")
plt.show()
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>>>import numpy as np

12345678910

13579

>>> np.arange(5) # arange(stop)
012345
>>> np.range(1,11) # arange(start, stop)

>>> np.range(1,11, 2) # arange(start, stop, step)

A UAR—FLTHOFAT
HZET, X0ESMICEROFERE yiixZ2RATIR L LTERBRT D ENTEET,

i

L7z

[



%matplotlib inline
import matplotlib.pyplot as plt

import numpy as np

# T—X
x = np.arange(1, 11) #x OfF (1~10)
y=3*+15

# 777

plt.plot(x, y)
plt.grid(color='0.8")
plt.show()
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from sympy import Symbol, solve

from sympy import Symbol, solve

# Az ER

a = Symbol('a') -
b = Symbol('b') -2
ex] =a+b-3

ex2 = 5%a + 2*b -12
# SEANT R % i <
print(solve((exl, ex2)))
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from sympy import Symbaol, solve
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== def Flx):
return 1/3 *x**3 + 3/ 2* x**2 + 2% x
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